S

At
I
©
Ul
aio

T 5 SFE/MLE]

| RIERARIRYT R =

ST L

Jty
N
Alll

TR (5

B ) (= B2 SR AR /)N LI H]



:i\
2

i

£95%

SHSEENMNIFEREBRERENSSAHETE (F525)

SHSEENMNIFOERERRARRIFANSIAMWMETFE (525) X, RCEHDIEZBICLD.
(MARLETFEDOHHIE)

£1% BEORABRETFTEOHRBACEAREETNTNS4 48THZENL., RARETFTEOHREZRARLEETNT
1, 919, 996 FH&ET D,

2 BABRHETFEOHEOREORDRUVEAXEXDCLOEBELVICHERORAREFTEOERREER. [B1XR K
ABRBFEME] CXD.

SM5411H28H & W&
ol BRSO A o IE

M



FI1R m AR & F B 8 I

(®A) ( Bf1:FH)
T 18 #E Bl D W IE % &t

T AR 120, 229 448 120, 677

| fhREHEAE 120, 228 448 120, 676

% A a 5t 1,919, 548 448 1,919, 996




() ( BfI: FF )
= i E Bl D il # 5t

1 & 34, 460 448 34,908
| HIBEEE 34,092 448 34, 540

b RIEEXRE 39,510 26 39,536
| HERRDESFEXE 33,399 26 33,425

9 FRE 48, 223 A26 48,197
1 FiRE 48, 223 A26 48,197

% & 1,919, 548 448 1,919, 996




i



(847 - FF)

1 WA
= e = B <
T " fHIERIODEE | # IE 8 5t - 5 pe H BA
TR
BAE 120, 229 448 120, 677
118
REHEAE 120, 228 448 120, 676
18
—RSEHRAE 120, 228 448 120, 676
4 | BERSEFRAE 448
HBEWRSESEASR 448




2 @b (&4 FH)
#EE OB EMR R i
S EB |REmoE| B EHE| 3 % ® M & o : B
mnzne| whm | zom | R | B2 ®

1R

Oy 34, 460 448| 34,908 448

118

wrEEE | 34,00 448| 34,540 448

18

— R

# 33,362 448] 33,810 448
2 (1) BEALE 448
fart 98
3 2 — AR 98
BEFLE 270 3 higFY 2
4 iR T Y 70
e 80| EmFY 198

4 HERAEES 80
53k
(REpELE
39,510 26| 39,536 26

18

HEBRRES

BEELE

33,399 26| 33,425 26




= ' B

FHIERIDER

8 E &

i IE %

o B

R N

&R

¥

€ M

iR

ER<hE

UYL

T

—RREAIR

B B

18
FrEfEER
PEESR
E

33,399

26

33,425

26

HEE

26

(2) BERRIESERE

I FEERABELAEGRES

26

26

9K
FiRE

48, 223

A26

48,197

A26

118
TiRE

48, 223

A26

48,197

A26

18
FiRE

48, 223

A26

48,197

A26

28
TiRE

A26




AN
A 5 = BH A £
EE
“ 5 Bn
B % £ %5 8| & @
=g S5 o mxTum "=
(A) (FM) (M) FF) (M) (Fm) (Fm)
£ = 0 0
% B 0 0
W E A
F D1t 12 144 144 144
£t 12 144 0 0 144 0 144
£ = 0 0
% B 0 0
W OE %
F D1t 12 144 144 144
£t 12 144 0 0 144 0 144
£ =
% B
Eoo#
ot
n




2 — 5B
1) # 7
T w 5 & & s s =
% BEH 5 wm % H | BB F & E * F R = s
(A) (FF) (FF) (FF) (FF) (FM) (FM)
e B (1)3 1,826 12,167 9,276 23, 269 4,146 27,415
# #® R )3 1,826 12, 265 9, 546 23, 637 4, 952 27. 889
B 8% (0)0 0 98 270 368 106 474
N EEFL iz F EEFL BEFL | BRNDETS| BOETY | SEREL
B 7 (FF) (FF) (FF) (FF) (FM) (FM) (FM)
_ # E A 0 731 0 214 945 0 0
=1
W OE % 0 733 0 214 945 0 0
F
[ 0 2 0 0 0 0 0
= X 4 HRFH PRFL | ERTFLAEE| ESHETFY |enaninssy BE
o 7 (FH) (FH) (FH) (FH) (FH) (FH)
#w E B 3,199 2,361 1,826 0 0 9,276
N
W E % 3,269 2,559 1,826 0 0 9,546
; T 70 198 0 0 0 270
X () 2. BEREREOEBERL S ABEEENED 28 1 BILRET 4 EERABED S bRAESE 1 BI-%%d ABARE DAL GIES)

10




7 SHEEFSREBEUSNORE -
. = o =] 5 % s A =
X4 BEBI—xg @ % H |BEaF N =t * F R =5 A e
(A) (FMA) (FMA) (FMA) (FMA) (FM) (FM)
W OE @ 3 0 12,167 8, 905 21,072 4,038 25,110
B E % 3 0 12, 265 9,175 21, 440 4,118 25, 558
e 8 0 0 98 270 368 80 448
B X 4 BEFY Hoig F FTEFY BHFL [HMND%HTY] BREFY | SEBFY
" (FMA) (FMA) (FMA) (FMA) (FMA) (FMA) (FMA)
| W IE @ 0 731 0 214 940 0 0
F B OE % 0 733 0 214 940 0 0
w & 0 2 0 0 0 0 0
X 4 HXRFH HMFY | ERFULUAES| BHEHEIFY |cmnanosy =1
1) 7 (FMA) (FMA) (FMA) (FMA) (FM) (FM)
i W IE A 2,833 2,361 1,826 0 0 8,905
- W OE % 2,903 2,559 1,826 0 0 9,175
A . ® 70 198 0 0 0 270
¥ () ZX. BEAEHEHEBEYR MEF)
4 SHEEFRABE
= w 5 B . ~ =
X4 BESI—x = w B | m e F % B * F R =5 A e
(A) (FMA) (FMA) (FMA) (FMA) (FM) (FM)
W OE @ ) 1,826 0 371 2,197 108 2,305
B E % ) 1,826 0 371 2,197 134 2,331
e & 0 0 0 0 0 26 26
B X 4 BEFY Hoig F FTEFY BHFL [HMND%HTY] BREFY | SEBFY
" (FMA) (FMA) (FMA) (FMA) (FMA) (FMA) (FMA)
B # IF Al - 0 - 0 5 Z _
F i I % - 0 - 0 5 - -
" & 0 0 0 0 0 0 0
X 4 HARFH HUMFY |(ERFLARS| HEHEFY |vEnasinsFy &5
1) 7 (FMA) (FMA) (FMA) (FMA) (FM) (FMA)
i W IE A 366 - 0 - - 371
- W OE % 366 - 0 - - 371
A . ® 0 0 0 0 0 0
X () B, WALABEFEENEO2E 1 HICHET L1 EEAABEN S LREE 1 5IC%UTIBEH NEX)

11




2 HMEN. BHHRUBEF LY DB R E A M
¥ B % 1 e 3 2] Al A iR =
X ) H B
S (FF) (FF) g ¢ s =
BN 2 0 i oo # @ %
BEREDWRI
[##1ERT)
BE R EICHES BR S A8|ie 58E faEAmEE 0.00% (-)
[##1E#]
HBEWER 0.96% (-)
= 4 - £ 5 i 2 50
@ " ” 5 #H 12 # S _ 7JFI )
s E W E TS #E S
FTEHEALOBEHN
FHIE AT 3 A
F O Mt o #B ®H o BEEBROEESH M A
HIER 3 A
M A
385 HAKEMF M 385|EAk £ 240 05 A 5%
IBERE (< H 5 H
RIS (=4 5 15557 BT 10, 05 5 4B
Bk E Y A 60
HMFL A 55
BiEF Y 270
Z DD A 115
() ElX. BEAERHEBES WESF)

12




@ HHEUVBEFIOKRE (R

HEEZTRABAEUSOBE)

7 BE 1 ANLFUHKS
=3 7 — R AT B B 75 E
Tt A48 336, 833
(M)
W OE B T 5 R
(SFSE1A1BIRE) ) 362,976
qzi’ilﬁﬁn 43.0
(%)
Tt A48 336, 833
(M)
W OE % T 5 R
(SFS5E10818IRAE) () 362,976
qzi’ilﬁﬁn 43 3
(%)
4 #HEH
E3| )] il E
X » — R AT B B 75E
7 ol Rest e ) L )
o T o I 154, 600 154, 600
|
2 x = x 185, 200 185, 200
I 166, 600 166, 600
E 4
W E & X = = 196, 200 196, 200

13




7 A B A"

— R E
IZ Z\ ﬁ&
9 AN P
(A) (%)
T ®
2 @
3 i 1 33.3
W E B 4 #® 2 06.7
(SFSEIAIE BE) 5 @
6 @
£ 3 100.0
T ®
2 ®
3 i 1 33.3
W E % 4 ® 2 0.7
(SHSEI0B1E B 5 @
6 @
=t 3 100.0

X () Bl BERERMAOBEBEDARKRUERE HESE)
X BRANOERLEOER TN ALUTE2MZOEREAL TS0, BRLHE—BLGWVEENH D,

(B DODEBEEMNLTBBERNE)

X P2l 1 #& 2 & 3 #& 4 & 5 #&
— AR AT U = & BlEE Es ElIEES
RAEF T AER. HRE. ABA. XB8 -

14




I 5 #8
X N & 3 3¢ = i3 IAY & ig
— A% 1T BB BREH 75 E8
B g . (A) (N 3 3
5 ® - & % B B # (B (N 3 3
" EEE (N)
i _ ‘ L2 5 # (N)
'ﬁ"f] = %ﬁ %Eﬁ %IJ W a 3 % %ﬁ (A)
4 2 @ (N) 3 3
T2 &= (B) .~ (A) (%) 100.0 100.0
B g . (A) (N 3 3
5 ® - & % B B # (B (N 3 3
" EEE (N)
i _ ‘ L2 5 # (N)
f& = %ﬁ "S{Eﬁ %IJ W uR 3 'II:—_,—I ﬁ'(a\ (A)
4 2 @ (N) 3 3
T2 &= (B) .~ (A) (%) 100.0 100.0
7 HEXFY - HWMFY
N 52 e} HA Al 52 =} = XHAEET | BHl O EREE. BIEDOK
= & FICkHMEEE |
6 A (B4 128 (A%) (H4)
N 2.2 2.2 4. 400
L £ Rl (1.15) (1.15) (2. 300) &l
) 2.2 2.3 2. 500
L £ # (1.15) 1.2) (2. 350) &l
2.2 2.3 2. 500
2 o # K (1.15) (1.2) (2. 350) gl

X

(

) ElX. BEABADOXRER

15




